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for the questions

Paper : GECCOM1A

( Fundamentals of Accounting )

1. (@) W& @ o5 o e 1x4=4
Write True or False :
(i) <o e BT IRPTRF 1S SN (EAIFOI
Teq 5T o A |

Cash method provides a better
indicator of a business’ profits or
losses.
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(b) R B : 1x4

24P/486

(2)

(i) TR T R TR FA PR TS
o g R e fiPRE 40

Simple cashbook is to record both
the cash purchases and cash sales.

(i) =TS S Ao o e Tge e
st FRI = |
The unfavourable balance of Profit
& Loss A/c should be added in
liabilities.

(iv) SETSFR  WER @fome TR
R 229 TP |
Non-profit seeking organization
never undertakes trading activities.

Fill in the blanks :

(i) _ tmreIan g RN IR T
| TS 91 90T CRIRARA |

The is an incentive given o
received for prompt payment.

(i) oo ol (Red F!

Suspense A/c is shown in the

(iii) e Tge ¥ @4 |
Trial Balance is an .

( Continue
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2. (a0

(b)

24P/486

(3)

(iv) I @A T Brer IR 1 STwjefaeet
Im R T, (58 oW 9 |
If a transaction is completely
omitted from the books, it is a
error.

9g 3D TPR AR IR IF % IR TPl
RIT IR e Yok Rfea s/9 aam
|

Explain the various causes of disagree-
ment between the bank balance as per
passbook and that as per cashbook.

%31/ Or

31 e To (PR R T IPR AT
RS 10,000 RR I R IW M8 oS
Ty 91 TETS 2 7 2T (Y] IR CS
PG 4 ¢
On 31st December, the bank balance as
per passbook of Dr. Deka shows a
balance of ¥ 10,000 but it does not
agree with the balance shown by the
cashbook due to the following reasons :
(i) 1,000 53 == 800 53R PR RFS
T fw 2RF TEs 31 fUrEw wWiee
Afiene 3 @R ARA
Cheques of ¥ 1,000 and ¥ 800 were
paid into bank but not cleared
before 31st December
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(4)

(ij) 4,200 TFR (6F 4 2T T e =
B 31 frogR S NEAME =
SCEE AR A
Cheque of ¥ 4,200 was drawn but

not encashed by creditors before
31st December

@ R [RJe a1

Prepare Bank Reconciliation Statement.

3. oo fraad R e siiRee @oFe 5 (B for
4x4=16
Write short notes on any four of the
following :

(@ @ENTR Y
Accounting information
() TR W
Capital expenditure
() Si¥S q=M
Accrual concept
(@ RS o R TR
Rules of debit and credit
(€) TETIEA T
Source document
() TENES o8l

Trade discount
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(S)

(g) TS P
Outstanding expenses

(h) G e ofedm

Sole-proprietorship firm

4. (@) T TR EEEPE T @ @R SR |
ot WF @ IR RorpHz HefRe
9

Mr.

Haloi had the following

transactions. Determine the accounts
to be debited and credited :

(i) 95 10,00,000 BF T YA TP

(i@

(iii)

(v)

I8 IR

Commenced business with cash—
¢ 10,00,000

9% 2,50,000 5 AT FF Fe

Purchased goods for cash—
¥ 2,50,000

s A1 &= 731 (2fRE—60,000 Bt
Paid for advertisement—¢ 60,000
P & Cod o}l IS 4 & IRfeE—
2,00,000 5= ‘

Bought goods from P & Co. on
credit—¢ 2,00,000

(v) 5% 1,20,000 5317 7 K&l

24P/486

Sold goods for cash—¢ 1,20,000

16
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(6)

(vi) 2,00,000 53R 7 3+ IS RF

Sold goods to Rabi on credit—
¥2,00,000

(vii) &R fra t2RE—90,000 B3

Paid commission—& 90,000

(viti) w2 TR C2fRe—80,000 B3
Paid salaries—& 80,000

(ix) 1ol faan ¢2fes—60,000 B3
Paid rent—¢ 60,000

(x) 2EER /T A9 5,00,000 B @R

Cafe
Loan taken from Hiralal—
¢ 5,00,000
2]/ Or
) T @6 e B @2 Rorr A
3 Foem & @ Roret e [Jfe =<
Tge-1a3 e A4 o 4+6+6=16

State the meaning of incomplete
records. What is meant by Statement of
Affairs? Distinguish between Statement
of Affairs and Balance Sheet.
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(7)

5. (@) “RH 7 Soas eiie 1 IR 6
4+4=8
What is depreciation? What are the
factors affecting depreciation?

<1/ Or

() R e’ 2021 1 1 9f¥e 70,000 TFr
a1 aftr @ IREE 1 o8 2021 v
1 TeF9S 50,000 5@ Y& b1 @7 @
IfRRE | IR 15 oy I SLM  mfve
w15y 4 1 e | ofS q=eq 31 Wb fREr
T ug o[ e R R =e9 e s
f2b1% oFe 1 | 8

Mr. Gupta purchased a machine on
Ist April, 2021 for ¥ 70,000. He bought
another machine for 50,000 on
1st November, 2021. Depreciation was
charged @ 15% p.a. on straight-line
method. Show the Machine A/c for
3 years assuming that accounts are
closed on 31st March each year.

6. (a) % NF emm Zo SF W wF [ BoER
&S T AILFPE =731 | 8
State the difference between Receipts &

Payments A/c and Income &
Expenditure A/c.
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(b)

24P/486

(8)

R[]I/ Or

DBM #d 1 «f¥@, 2022 ey 5w Tge
witsr 1,500 5 WF QAT Tge Wi
30,000 511 were ft ©| o1 31 W,
2023 I 98 {1 R A1 w1 7o 2191 (oA
Al

DBM Club had a cash and a bank
balance of 1,500 and 30,000
respectively on 1st April, 2022. From
the following details, prepare its
Receipts & Payments A/c for the year

ending 31st March, 2023 :

Cafet

S JLADIS S TEPReN o[/ J7T

Subscription received during the year

from members :

&1 (7)
2021-223 I 6,000
For 2021-22
2022-239 I« 70,000
For 2022-23
2023-247 [ 14,000
For 2023-24
]I 40,040
Furniture purchased
CI9IER {1 S 0 Sl 3,200
Rent received from auditorium
QI T58 31.03.2023 8,500

Balance at bank on 31.03.2023

( Continued )



(9)

7. (@ oT© 31 Wb, 2023 CRF GFF e
M QPR A TEem RBoe fa DA

A

(i) GRx Rot =% (i) Are-CIFEH 2019 2rEe

8+8=16

Following is the Trial Balance of Bose, a
sole trader, as on 31st March, 2023.
Prepare (i) Trading A/c and (ii) Profit &

Loss A/c :
Raa T A
Particular Amount

¢ (o)
RS TGS 2,400
Opening Stock
&Y 26,000
Purchases
TR 1,600
Wages
TR 1,725
Salaries
49 100
Bad Debts
Wi 2,025
Debtors
YR 2,500
Furniture
of¥ e SBIfer 7,000
Land and Building
EIESH 500
Drawings
-9 150
Cash

44,000
24P/486

R A
Particular Amount
7 (o)
1 e 375
Return Outward
Rkt 75
Rent Received
NSIM{ 800
Creditors
Howe vl 100
Outstanding Salaries
R& 30,000
Sales
A= 12,650
Capital
44,000
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(10 )

STl :
Adjustments :

(i) STRA FEgE—2,700 T
Closing Stock—¥ 2,700

(i) ewe TgR—100 51
Outstanding Wages—¢ 100

(i) oY wF SHFPR I THT 10 TORT
=R

Depreciation on Land and Building
@ 10% p.a.

§31/ Or

() o afs porm RerR S S TR
I 40 | R R W =TS -coio RereR
s PR RECy Seas= 341 | 8+8=16
Explain the purpose and components
of Final Accounts in the accounting

process. Discuss the difference between
Trading and Profit & Loss A/c.
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1. (a) 31 @ fg o :

24P/486

(11)

Paper : GECCOM1B

( Marketing for Beginners )

Write True or False :

()

(@)

(it)

(iv)

S T AT ISR WIS
el

Modern marketing begins before
production.

F¥ee A oz @e =, R SEER
Qe ey o w23 1

All trademarks are brands, but all
brands are not trademarks.

Rerem 2°9 it TEo W IwEI99
fR sff{enfie =iz |

Advertising is a personal presenta-
tion and paid tool of marketing mix.

WH R 2T I/ES PR ww iR
39| I HIZ=T | '
Price is the only element in the

marketing mix that generates
revenue.
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( 12)

(b) AN &R F T : 1x4=4
Fill in the blanks :
(i) Tocerel T T RPN
Y{e |
Consumer is the in modern

concept of marketing.

(i) TR ofeng wTe RN RRIfRFeR W
fafe TS Jfa = |
At maturity stage, sales continue to
increase at _____ rate.

(i) B ™I W WS IR ANETS
ICAA FCI ]l
In skimming pricing policy,
producers generally charge
price.

(iv) *FrER Reae gare Teams e
A AT |

A zero level channel consists of a
producer and ___.

2. wore fraaa R e FfER seree o Gt fors
4x3=12
Write short notes on any three of the
following :
(@) &R R q=en
Concept of marketing mix

24P/486 { Continued )




(b)

(c)

(d)

(e)

3. (a)
(b)
4. (a)

24P/486

(13)

CW| TERPEA
Service marketing

SR TR

Mass marketing

w3 s

Logistics management

w4 (P
Pricing strategies

IERFAT GRU 7 IQEFCR GFF ST
9 4+8=12
What is marketing concept? Discuss the
importance of marketing.

w%q1/ Or
7R e 2 @R feeR gees TR
A 4 | 4+8=12

What is product mix? Discuss the
important variables of product mix.

qaR feeed e & 3o 2 Toe Afoeem
TAMPTTZ F4LF SICaDT 41 | 4+8=12
What do you mean by market
segmentation? Explain briefly the bases

for market segmentation.

{ Tum Over )
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(b)

6. (a)

(b)

24P/486

(14 )

g1/ Or
TR & 5F B2 TR RS IPHR S
el 4+8=12

What is product life cycle? Discuss the
various stages of product life cycle of a
product.

" R B2 W PR ger e [ s
TAMIPTR SACAOAT 41 | 4+8=12
What is pricing? Describe the various
factors affecting pricing decision.

we1/ Or
R oxén B2 R owéR Rita rfemR
AT 4 | , 4+8=12

What is sales promotion? Discuss the
various methods of sales promotion.

e ™ N o cfGe ™ M Raew 34
9| 4+8=12
Explain the skimming pricing policy and
penetration pricing policy.

o]T/ Or
o) My 2 Rerr e fRfRTe ger
(IR AR SCEAB 0 | 4+8=12

What is channel of distribution?
Discuss the factors governing the choice
of channel of distribution.

( Continued )




7. (a)

()

24P/486

(15 )

T PREEN ¥ IR QA2 WR Rfew
TR I A 4+8=12

What do you mean by product
repositioning? Explain various purposes
of product repositioning.

%31/ Or
et Fiea & @2 TR Ry we
FFPTR ST 347 | 4+8=12

What do you mean by physical
distribution system? Discuss the
advantages and importance of physical
distribution system.
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(16 )

Paper : GECCOM1C

ement )

( Basics of Human Resource Manag

1. oo RS Aot Te fm 1x8
Answer the following as directed :
() TR T RO 49 g e |
(% (7 wreg o)
Human resource management is a
continuous process.
( Write True or False)
(b) ‘o SRS varg TR PR ¢F O |
(% (7 v forl)
‘Demotion’ is a source of recruitment.

( Write True or False )

(c) ﬁaﬂmwwwﬁm« o1 |
(% ¢ wrew fordl)

Job evaluation begins with job analysis.
( Write True or False )

Planning is a managerial function of

human resource management. ‘
( Write True or False )

24P/486 ( Continued



. (e)

(9)

L]

(17)

RRIA ReEa o @RI [ e
AT 14 TR |
(o ¢ToRyR fordn )
There is no difference between career
planning and career counselling.
( Write True or False )

THRE OF &GP AFHR THS A
A3 AR |
(% G srm forn )

There is no difference between induction
and refreshment training.
( Write True or False )

TR 7o T AfRbERR 61 PR TeErd 391 |
Mention one function of HRD manager.

o1 SRS SRR Tarzaa o

Give one example of non-financial
incentive.

2. oS fFAERA R @I BifoR eoe 5 G fora -

Write short notes on any four of the

following :

(a) TR o ARSEAR TR
Objectives of human resource
management

(b) URRT A=
Inductive training

24P/486 ( Turn Over )
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(c

(@)

(e)

(b)

4. (a)

24P/486

(18 )

79
Placement

Rezrprre bR A=

Scientific selection

TR

Incentives
SR AR

Compensation management

TFR 1 SRS o e ofRfE scesa
el 7+7=1

Discuss the nature and scope of human
resource management.

wqr / Or
e W FHOR e e R w2 TR
R4 =% SPIRYPIR At 41 | 7+7=1

What do you mean by line and staff
organizations? Discuss its advantages
and disadvantages.

91 RS T ST IR IR e
oo ARGERT (HRP)R Gsame! am 411 1
Explain the importance of human
resource planning (HRP) to ensure
effective utilization of manpower in an
organization.

{ Continued
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5. (a)

(b)

6. (a)

(b)

24P/486

(19 )

we]1/ Or
= Rerd B2 TR oM «Roeme TR
SR T 1| 4+10=14

What is job analysis? Evaluate its
significance in human resource
management.

TR R qF AR AT 5L w
T FHR Rz WF FHRA A T
AP CTYSAT | 2+2+10=14
Explain the meaning of ‘Tecruitment’
and ‘selection’. Distinguish between
recruitment and selection.

%JT/ Or

T IR AR v RS Rrwpm
IR A T | 14

Discuss the significance of employment
tests in the selection of new employees.

dfreeR i ) @5 SR Afdere

ARPFR FEEATeR REE 3 39 | 14
Define training, Describe the

importance of training in an industrial
organization.

5337/ Or
ofreer Rfva s=femz amn =1
Explain the various methods of training.

( Turn Over )
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Paper : GECCOM1D

( Introduction to Banking )

1. (@) % G e 1x4
Write True or False :

(i) AT oo Rorefe (I 7o 24 7 |
Bank provides no interest to
Current Account.

(i) QSRR CHR TR T (X’ AR
@R
Mobile banking is the latest
development in the banking
services.

(i) NEFT-9 CGCH (F9e XA (EFICeo
Nz =3 |

NEFT transactions are not limited
to domestic transactions only.

(iv) T-QRes  FoEeRes i SR
TSRl wReE R AR TS
SRz eI |

E-Banking contributes to environ-
mental sustainability by elimina-
ting the need for paper-based
account information.
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(21)

(b) AN B W A : 1x4=4
Fill in the blanks : ;

() af Rt tzz e R =<
S 3 |

Flexi deposits combine the features
of fixed deposit and ____.

(i) JRA ARCNE Q@I O IR |

Remittance of fund is a
function of a bank.

(iii) RTGS 3 oo F°1001 (TR |
The full form of RTGS is .

(i) Tz @F F [ AfSSrrHeR
SRS QIR W e AR
I@ JTE A 9F A w-ca
o3 |

_____is a global messaging network
used by banks and financial
institutions for secure communica-
tion and transaction processing.

2. e FRAERE R @A BR6R e°R® 59 (Bt forst -

4x4=16
Write short notes on any four of the
following :
(a) SR T (T
Regional rural bank
24P/486 " ( Turn Over)
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3
( 22)
(b) AT &
Recurring deposit
(o Af&epfSorg
Promissory note
(d) R QR
Mobile banking
(e) Grf3 e
Flexi deposit
(N =N & IAor

Fixed deposit receipt

3. (@) RO @R} IWER RIER R weamw=n
91 14
Discuss about the evolution of the
Indian banking system.
%3]/ Or
(b) TS AN WCABAT F4T : 7+7=14
Discuss the following :
(i) SPIPe @F I SHI-Spifoe @
Scheduled banks US. Non-
Scheduled banks

(i) T @S =W IfATe Q@

Central bank vs. Commercial bank

24P/486 ‘ ( Continued )



4. (a)

(b)

(b)

24P/486

(23)

AT 2N PR I 14
Explain the primary functions of a
bank.

91/ Or

e PO QAEE A I R4

SoRIYSIEE SRR A0 0
Explain the general utility functions
provided by a bank in modern times.

CSf%= /71T 1Pt (TR offo =y 1 | 14

Explain the procedure of opening a
Savings Bank Account.

531/ Or
KYC ¥iis 82 KYC T d@meame Se afe- -
Tz I ¥ 4+5+5=14

What is KYC? Explain the need and
norms of KYC.

e Te GFER Tm $97 eI we

G Ry wE FAREerER WeEn #9 |
3+7+4=14

What is electronic fund transfer?

discuss the advantages and limitations

of electronic fund transfer.
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5%/ Or

() T@RR WA B2 %-Re TR CAPEPTR
izl 4+10=14

What do you mean by E-Banking?
Discuss the general features of
E-Banking.

%k *k
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